o
mmo
~

<A
|

Hole?

Yol RNl

@ 2

™M

1

— |



29
y:—2x+1
1 +1
= —=X -

1z

No




PTG A x—ay-2 =0 3x-2y+5=0 9] 17} A= HaPd
i, A a o gha F-51H?

1
© 3 @

DN =
[GCI Y
DO W
DO | ot



o LELER LT

y

23}

X

==
5,

A

d

]

P
A

olp

ot

@ y=2x+3



T7ty=-3x+b & M,y

@ 8 @ 11

]
=

e

® 12



6. o= 2R E2 2T Aol A (a, -13) °] A& W, a Of F27

yl\

W =
Lo~



AR y = ax + b O] T =7} b2 13-}
28w, DA y = bx 4 a 9] AT} At
A e AHEH?

@ Al 1AHEH
@ A 2AHEH
® Al 3AREH
@ A 4AHEH
® o= ARRHE AU ¢

Bl

S

yl




y

ax+b7tA (L )= Ad ™, a+b9

® 3 @ 4 ® 5



10|

[AelEa]

9

ax—-y—-1=0,x-y+2=09 9 xFH7}2
o
1

Al
A

ks

o g
A5 a9 B

24
o

—

1] )

)
@



10.

o]l Ho z}o
x O] HA7F2 < x <5 AR y = x4+ b5 9] FHUgol 8

b o] FH2?

D 2

@ 3

@ 5

® 6

o,

A}



(20,—a+2)E A< W, a

o gre?

® 3

@ 2

® 0



A x -9y =4 9191 H (k+6, k—6) o]l thato] k gL 3}

@ 7 @ 11 @ 13 ® 15



o|al yd o] 2

A7

I

P84 ax—by +4 =0 <] 13

ol %
=
Al a+b9

13.

® 5

1



14. 2x-3y4+6 =09 2 netx= Y yHoz SRl =2 Hol=?

® -2 @ -3 ® 2 @ 3 @0



15. QAAAA —ax + by -4 = 0 o] THZI x Zof SZ o] A 1
AR A 4 ARAE A 9T g, b O] 2AL?

D a=0,b>0 @ a<0,b=0 ® a=0,b=0

@ a>0,b=0 ® a=0,b<0



